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Study Checklist

This review booklet is by no means a "practice final". It is a collection of practice
questions on each unit, meant to guide your final exam studying and prepare you for the
types of questions you will see. DO NOT treat this booklet as a practice test. DO NOT go
straight to the answer key when you come across a question you cannot remember how
to do. Difficult questions SHOULD guide your study! Always look up a concept in your
class notes if you are stuck, then attempt the question again.

BEFORE beginning this booklet you should:

o read through your class notes booklet on each topic

o make your own "quick summary page" of important formulas & key concepts for the
unit

o review quizzes & tests from the unit to recall strengths & weaknesses (a great study
method would be to re-do old quizzes & tests on a separate piece of paper)

WHILE working through this booklet you should:

o look up concepts & example problems in your class notes when you come across a
problem you are stuck on

o make a list of "questions to ask my teacher" so you can come to class and use your
time efficiently.

Questions I'm having difficulty with:

Page Question Number # Topic




UNIT 1: MEASUREMENT FORMULA SHEET

Unit Conversions

Common Imperial

Imperial and Metric

Metric

Length

1 mile = 1760 yards
1 mile = 5280 feet

1 yard = 3 feet

1 yard = 36 inches
1 foot = 12 inches

1 mile = 1.609 km
1 yard = 0.9144 m
1 foot =~ 0.3048 m
linch = 2.54 cm

1 km=1000 m
Il m=100cm

lem=10 mm

Geometric Formulae

Key Legend

! = length

w = width

b = base

h = height

s = slant height
r = radius

d = diameter

P = perimeter

C = circumference
A =area

SA = surface area

V = volume

Geometric Figure Perimeter Area
Rectangle P=2]+2w
]
or A=lw
1 ‘W
. | P=2(l+w)
Triangle
AN\ bh
2 e P=a+b+c A=
hioy 2
4\
b
Circle C = nd
_./_\--“-“'-.
/ VAN
{ LA or A=mre
N C=2nr
L

NOTE: Use the value of  programmed in your calculator

rather than the approximation of 3.14.




Geometric Solid Surface Area Volume
Cylinder A =2
fop
r -
[ o= ] Apyse = T2 V = (area of base)x /1
1
SR Agge = 21rh V=mnr’xh
SA = 2mr? + 2mrh
Sphere SA = d7r2
e ";\\
\ )
N SA = nd?
Cone
\ Asige = TS v = 1 x(area of base)x A
/:\'. 2 3
/1 \s Apgse = T0F .
/’ [h\ 5 V=1xgr2xh
e SA =Tr” +7rs 3
‘;.
Pyramid Atriangte = Lbs (for each triangle)
A 2 _ 1 x(area of base)x h
/ ‘I|\\'\ 3
j,-" il \"-\ Abase = I X W
/ 23l AS N\,
f’r’ ;{fl "'-.\t:\ Vzlx ]X“}X 17
S | 3> SA = 1 5% perimeter of base + base area 3
f ~L " 2
Rectangular Prism = h (h+ 1
g SA=wh+wh+w+hw+ih+1h V =(area of base )xh
7 //I
= § or
h iy V=1xwxh
! SA =2(wh+ 1w+ 1h)

General Right Prism

SA = the sum of the areas
of all the faces

V = (area of base)x h

General Right Pyramid

SA = the sum of the areas
of all the faces

x (area of base)x

| =




UNIT 1: MEASUREMENT

MY NOTES AND THINGS TO REMEMBER...
¥ oMt WEATIC RESPONSE ™ 3 Q‘ % €



UNIT 1: Measurement Multiple Choice

1. A road sign says to turn right in 1000 feet. Approximately how far is this distance in Kilometres?
\ ’ - -
Q;:g-gtm @ > we Q@ ~dwm:
- 0.6km
C 1km 0.304% m Mo
D. 1.5km \000% * = 30\\~%l\'\ 304 %ff = 0_30‘*\8&!‘\
\ % \000 D%
2. Which of the following calculalions converts 4 yards into centimetres?
X 4ydx25]4un
o 3X  P5dem
K Bl }fd)\ ] yr.-. !)_(
(T.: 5 12 !E 254 em
6 T m TR
I8 I u( | em
054 i)
3. A cylinder with a diameter of 10 cm and a height of 12 cm is half full of water. A sphere with a
diameter of 5 cm is dropped into the cylinder. How far will the water level rise once the sphere is
completely under the water? A\ C ) z
() ) V(yhander = TOr
U spere = 2 we? 9 TOinke
A. 057 cm 3 3
B. 0.83cm 3 gaz_’-‘)‘\x’-“ 4 K‘\
", Scm - = 4w x5
@ 6 cm 3 3 W= 923 HAx
7V 573.5% . _(m S
h= baen N R
=100, N ) —-
( Y \ Wi\ Vo The volume ‘\“‘)_&)‘s(l\‘\
T = Hlme -
oF Cy\inder
4. Using the ruler below, determine the length of the pencil.
e S
|1|IIII KA ||I|II‘II||I|II||III ||:'|I-:_|III|I|I|I§|lI|IIII|I|HII|I|I|Il|;||.||||||| )
i B e e e I
nches 2 3 0 \
v ‘ -
-~ 31 -
T3
=1,
A. Dg
B. 5.2
< 1
C. :)Z



Jung was told to plant trees two steps apart. Which of the following estimates is closest [0 “two
steps apar{”?

B. 3m
C. 60cm
D. 30in
0. YU
\000 4 , - AUYm
A w
Which distance below is the longest? /! \ /(
.f'ﬁ
0.6 mi, 1000 yd, (I kly 900 m
J v

1009 \
A. 06mi 0.6 gl x \50'\!.,\ (R {7 0T - \000

(1(3:). 1000 yd \9{ 1'7°4

1 km
Dosoom = g assuyk, 9% 5 Ym
i

A cone-shaped water tank has a volume of 1000 litres. Which diagram best represents
the 250 L, 500 L and 750 L marks outside of the water tank?

O

\ 250




The slant height of the pyramid below is 45 cm. Calculate its volume.
e
NN V= £ XX wxh
/1IN 3
r
/e NN = L x30x30x L
ol LN 3
. v i .
ol BT — VINF 06 Gt
// | B
{ :
N f\ | —
c-,)) . | - \c‘(\
(1) | ()
A. 10062 cm® AL e ? ‘»\53
B.) 12 728 cm’® LA
C. 13500 cm® 45 W W AP T 02D
D. 40500 cm? = 0k, -2
19 h= B MIbY-
S. The volume of the object below is 186 cm>. Calculate the length of x. ® @
ARG CCERRBUS
l Jcm !6X = 7)‘»(‘;‘\() £ I4Y
e 9 ,"{61 = M~ 3bx+ UK
3 ? _ _
0 /s = MNL-\IX
9cm
3.1cm \YB - yv\)x
& 2.5cm
" 175em A TN
D. 125cm = X
0 7)1 S X3 35w
—\) 0 ' ’
10. Calculate the surface area of lthe solid hemisphere below. Answer to the nearest square metre,
F:--_- L - I.'!_m 1 mg
.\.. )

Sk = T\’d\:’ 1+ Br®

——

J

= wy, wly
- 1]
= 0AULT. ¥ W3 oaF33S = i%%o\ m




11.
A baker gets his muffin boxes from the United States. The tallest muffins he bakes are 11 cm.

Estimate the height of the smallest box in which the muffins will fit.

A, 30 mchestall

.10 inches tall \\ C A\e BN _
@ 5 inches tall] % X = L\ ) %3 0:‘ SR T
~ 4 inches tall J 5y 9‘
12. As an estimation strategy. what could be used to best approximate one centimetre?
A. the length of your foot
the width of your hand
the width of your finger
the width of a pencil lead
13.  Two isosceles triangles have the same height. The slopes of the sides of triangle A are double the

slopes of the comresponding sides of triangle B. ITow do the lengths of their bases compare?

A. The base of A is quadruple that of B,
The base of A is double that of B.
", The base of A is half that of B.
D. The base of A is one quarter that of B.

S\QQQ = & C‘

14. A cylinder has a surface area of 402 cm® The height is three times greater than the radius.

What is the height of the cylinder? \,> R< 5 c
A, 800cm = JIWe? ¥ Inch N
1048 cm SR 3 \ L\ 03 ¥
é)mmnm Uoy = INY *~)Wr(3(\ TN
16.97 cm )
Woy = dWr’ + bur 2=\
« -

15. A bowling ball measures 264 cm in circumference. What is the volume of the smallest cube that

S\QQE =Y

/

n

X

?

3 n=3c T \em)

will hold this ball?
A. approximately 75 000 cm’ = = S
I’ ' : K] TNOdM = ¥y
approximately 311 000 cm” \\\ —s
C. approximately 594 000 cm* - ‘\i - (L\) ‘0\.&0\)3 '\\ PA N N
D. approximately 2 300 000 cm” " =YW .0\ ..

10 13 on?



16. Which of the following shapes has a volume three times larger than the pyramid below?

|
s <
// )J [ : h=15cm
e | \\
i \
S/ AN
P N
& — r‘r [l - ~ \\\
. ! ___f__‘.‘:a
. e
L= base area = 160 cm?
I B. P
PN << P
~ -
= N
— R
I ! i
: h=130om l !
= |
k, —’/’ = 1 | |
" | h=30cm
~, — |
=" base amwa= 160 e’ |
N "k\
1 4 - ~
e ~Y
- e
Bt =" baveanea= 160 cm®
C. 1 D. /
’l,'i T h=5cm _‘h\
A 1< /I
P = /v
Pt (YN /N
~ f 3= Sy / | Y
~ / s > / TN
T s area = 160 em® ."f {4 /’\' h=30cm
/ [N
7 1l ~ \
L - II [ ~a N
M\““-h | o :.-'\‘-\
~ B
N base ares = 160 cm?

17. Which of the following net diagrams best constructs the cone below?

Al O S .
//




18. Polar Company has designed an ice block in the shape of a cube. The volume of the
cubeis 15 625 cm® Which of the following dimensions is the smallest opening of an ice

dispenser that will accommodate length AB?

A, 25c¢m wide ]
40 cm wide N X
C.) 45 cm wide 2 5 N,
| . @ ™~
. over 50 cm wide
35
> =
)tJ . 4 3'-; = K
A\ 1’1‘36 :-_\,3-);3"
%x = 35.3%%

Nz

$= 95
8!
N
5 | ;‘\9

'__‘x _‘-\A
353 + x} ju \5)
357+ (3B3%5.) =

N (V- I i

Y= 1u3 301... Um

11



UNIT 1: Measurement Written Response

1. Convert from Metric to Imperial units. (Answers to three decimal places.)

a) 53km= 3 1_0\_\_'_\_ mi

\5%% y LN
\-6 02 téa

¢ 3Smm= 13,9583 m

WWiphy, 934 R

0.9B kK 200 \yd
\ 8 0. AUK

g) 436cm = &%_0\_‘\_ ft

SEYY u&x VAN g _B_t_
\00 G 0 .30uEK

by 63em=_34.%03

3K, A
2.5 A
g 2m= 260037 4
o L Ok
0 30ME

o \yd
0 AWMMY K
h) 428000mm=_0.3%b  m
< \‘LK \\'\.\
L\)%OOQMK \ A % = —_—

X — X%
\0 s LO0o 0o 1-b0AYm

A X.  Convert from Imperial to Metric units. (Answers to three decimal places.)

a) 53mi= % V))% km

53 ",6 % VoA
oy

c) 345 in=_j£3__ mm
WS Ky 2NA 0mem
LA \oxn
€) 280yd=_0-)t3‘3__ km
V0 Ha , AL Ve
\yf - V000 K
g) 436fi= 153,808

M3k gL DA 238
K Ak

L 7)“/( 2 BN

— —

T
g s2n=_o0 AAYN q

O v{ . 0 30U%im

'\
f) 74yd=_%© ' .%%% m
fllly( . 0 _Aviy i
A

h) 0.0428mi= OS¥ED- > o

0.0k s, MW O DTy
\en \ Whn W %

12



3. Determine the surface area and volume of the right prisms.

4™ 15cm
9 cm — @
{ 4 ¢cm
12 cm
® .
Pr= + Q) - ovar\ep
SR IXQ +@+R) 1O _® ®
B IR CUSE TNES 1N TR C N BV S e N I
_)/X (”\1)\_/7 ) + (L\\(\v)) 4 (\')X\'\) 4 (‘\x\.‘) - )U.‘/\S" 0\)(5‘\"\"?)) "\_3((”‘3‘-\3/;[\ st)—)‘k%XL
= 10%4 60 ¥ YR +34 R
A= 3I/diR?
Sbs: 38) (ma . )"\
R NERORYO!
= _\50,»( WX N (5 o a box) Y ST UNE S § YRY XN
= L xlx gt oaiag Ll
, , A S = I A5
'z I\ o’ %’ Aviy = ¥? N = AL il
) 3p(N) *7= 25 d)
‘ e
Sm tS_
N ag . 2el) g
A= @ *@ = ONQr\ap W= 0 .‘,®,o\10.'r\'v\f
- = Qrwxh + LRWXR T 'B\Xh‘“
= b(\rﬂ\* Ui ) + X(l’x_}-) » IXWXS - fxw - sx1(),5+!0k4x35' 3% 5%3
= 3RGEF RN+ gS) §oxx3 + XD xS —¥ X = IS5y \AS-N
= 3 £ IU - 9wy
SPA - 3
\‘\\‘\0 nmn ¥= ® +@
V=0 +@

S TUTN R RN
Lrexh + 53 XS xW

< 9% k319 03D

= ¥x1y x5+ %X‘Sx") x1d T R1Ha135

= UY0 + \%0

N = LSON\S

13



4.  Determine the surface area and volume of the pyramids.

a) 8in b)

= 12 in
12 in

Sh= L Mxg v @2 14 cm e

= —‘gr\-l\(\)'\ R’ SP\:,\:SXL[)(Q_\,Q)

= bty S SUITIERL
SR = ¥.bbb.. + A
VRS PO ORI ETS

'"».l_s\\a Ix g Vo= —‘§x 2 x v XK

:-\3-1\\\\ v x2Y
V= 5% (“\3

5. Apyramid and a prism both have the same base and 6. A pyramid has a right triangular base with sides
height. Determine the ratio of the volumes. Scm, 12 ecm and 13 cm long. Determine the height
of the pyramid if the volume is 120 cm?

\\J (’(‘\Sp\ = QY\ N\(\'\ \f: '\_ (Q\(Q_.\ Q‘ b“\‘ﬂ\

3

Nege = A = 1y Lewogn

- “Ax XD x

3 X LK WRK L :
' D0 - A, Sk
\Jiﬂ_ . _J_ p Sy _SK == * %
Veyl __; A VO = (N
3 2 o xR

130 = @ xw .
10 0 :j
7. Two pyramids are similar. The volume of W 8. Two pyramids are similar. The volume of the large
pyramid is 500 cm? and the ratio of the bas€ areas of pyramid is 500 cm? and the ratio of the base s of

the pyramids is 9 to 25. What is therdtio of the the pyramids is 9 to 25. What is the vol
heights of the pyramids? of the smaller pyramid?

14



2 »
A+ k=W
W \ 5=} LA ‘r\? ;\“\q
\ -
9. Determine the surface area and volume of the solids. \ = 63

ho= J63

b)

—

1| k] tl\jj:‘

(50)

T, :I\
121in \")"‘L‘): xﬁ
3b + %\, = bM
=%
LS FS1
SR> TG+ WES, — WS, 4+ Wl
+ } ‘Tf,:-g )'\Tr;x‘\_ - 3*‘“’()’_ '}‘\Yr;

SA= 3“r,"+ IWY xh -\}Wr;‘+31\rax\\

=AW D3 4 IR duxd X

TOHYAT4 WXAXN — WX XY A TTXG
SA = 556. 0b in’ '

+)“X\,’+ WX = x)? —dnxy? = %—Wr,*xk\ - l%“x())““
M= RLAS e’ ,
VTR 0 4 i)

=\ A K63 LT V3% §8
3
\ -
o B S S W WXI*x) ¥ wx VAl

Ll:l'z_,_n'f}'m%
V=%3%bun’?
c) d)
10 mm w
LN >3 ovw
SA = M 4+ dwih
y . 3 AxXN Sh = Un(’
, - 2
~ ﬂ(’41(\\ r Axn Hu x4 .
_ T - %A
X3+ 4x3x10 * LxO SR IO\ B ek
N = %m‘
V= 1ed .
;\\ = M ogyMd
= w3’ X0 NV = L%.0% W3
)
V= iz me

15



UNIT 2:TRIGONOMETRY

MY NOTES AND THINGS TO REMEMPER. ..

FWRATTEN QEPONSE 8 F 18 A BONVS .

FOMIT WerTtEn Rxsponse wg 4 ¥4 & w1\

16



UNIT 2: Trigonometry Multiple Choice F MBLE SYLE tACCUUATYE (S 1N oeGeeest

1. Determine the ratio of cos A.

SOu Caw TOA
.3
> _
o _ 4w =3
X A U X ? - Q
X’z %
2 -
A cosd=y (050 = ady x = J5
@ cos A =—‘é§ ‘\"0
_J13
C. cosAuT @S p = Xg
3 -y
D. cosA =7§ 3
2. The angle of elevation of the sun is 15°. How long is the shadow of a 64 m tall building?

247 m

A. 17m tan 6 = Ogp ) ’X»’(mr\é:&_)_‘_{
@ 66 m . o) _ a% Aeets’

239 m v \é " X‘&‘S
ER = ,}/ %= I3

As Tracey is driving. she sees a sign telling her the road has a 7% grade. (i.e.. a rise of 7 metres
for a horizontal change of 100 m). Which of the following expressions will calculate the angle
between the road and the horizontal?

ofe
7%

A. tan (%) ‘
B. sin (%)

@ tan™ (%)
D. sin™ (&)

17



Mission’s outdoor club collected (he following data to determine the height of a cliff.

\: “:_“1;5}
LR
b

¥

, ‘ -3
Calculate the height of the cliff. fﬂ\(\ E L l \_\!.\’\\_\_ = LY MY
A. 37m
B. 84m : = -\ wn
6 244m F-anAW = R
(D) 26.1m
X = I

Calculate the length of side x on the diagrambelow. Answer 1o the nearest centimetre.

e ’ ) .
foem O, @ \0 + ‘)1' L

gy = \00 + \”" = b3
\ 4’ = 5t
¥= Jsa
V® stz Y
X X
N ‘= 9y

—K—S-\(\ : )\-‘ '_ﬁ—rﬁ'._'-lkrﬁ\
§\f\33 %Y

In AABC, ZC=90°, AB=17 cm and AC =15 cm. Calculate the measure of ZABC.

B. 4l o 1 =

L 49° B
@ By o= Sic! (L‘S
a)

o= 62°
18



Using a protraclor, measure one of the unknown angles and determine the length of side x.

A
, Sia 90 = ;/*\
\-‘L‘“ -
= X R
- K= N -3 20
A0
30 g = x = L\'_\X

Note: This diagram is drawn to scale.

A 35m
@ 4.8m
. Sim

D. 132m

A 10 metre tall farmhouse is located 28.0 m away from a tree with an eagle’s nest. The angle of
elevation from the roof of the farmhouse (o the eagle’s nest is 30°.

)3
P o R

"~ iﬁx ‘ N WAANI0 = K
h B "= \b-\b
d \Om
What is the height of the eagle's nest? Wi P = \O *+ 1\ \b
A, 16m = A

. 24m
C) 26 m
. 48 m

A ramp is set up using a rectangular piece of plywood (shaded region) as shown below.

a1
-.'_’"J/- hﬂmﬁ“‘“““‘x-uﬁﬁ O S\INA” = 97_3/&
i ___h--'-"_'“—-q________

0.8m| Tl

"
o I i _;“""——r—:_/“‘(w\ L-3\en = QK

Calculate the area of the plywood. Answer in square metres to one decimal place. l 0 %

@ Az Lxw Ste
= (50346 )(?) L= 5.3,

19



10.  Ann and Byron positioned themselves 35 m a part on one side of a stream. Ann measured the

angles, as shown below.

g A

‘..) ‘(\

& 3Sm

i |

i ¥
Ann Byron

Calculate the height of the cliff on the other side of the stream.

A, 175m
B. 629m
70.1 m

1074 m

X I 4326 Xkank¥

x= \0}.0%

20



UNIT 2: Trigonometry Written Response

1. Find each ratio to four decimal places using a calculator.

a) sin 63° 0.3\
¢) tan 63° \‘o\‘o)b
e) cos27° 0 %0\ \0

2.  Find the measure of the acute angle 6 to one decimal place.

0
a) sinf@ = 0.1348 R :‘
0
¢) tanf = 0.1348 13
e) cos6 = 06213 5\t
3. Solve the triangle.
0 a)
S)‘lq’: x’ 9 e = \Otg
35+ €t - X’ @ - n
= 1 7t
%< Joy ° p=_
Ok o(:*.m—t[ﬁ)
5 i

e \Xo -no -Boa

4.  Find the value of each of the two remaining trigonometric functions

ﬁ
a) Sinez% :W cos@ = /‘\
¥ 14 <74
tanf = \E|
Y
g 3 ’X)“ '3): \_\)
C .
X = ﬁ x)_{q
%333
) tan@=2_@ sinf@ = aﬁ/_%
] Ve
* cosO = )
tA R Vi) X)
O
1 Ly uy = %7
AT xR 2D %<3

b) cos 63° 0.4540
d) sin27° 0.4540
f) tan27° 0.5045
b) cosf = 0.1348 $2.3°
K4 0
d) sinf = 0.6213 AT
b}
f) tan0 = 0.6213 2\ A
o 3y w3 = 2
(1) o530 = .:_ C’ * K
¥+ Y - AR} —
b n = W
= _4=| Se, ¥= 3.\
= A
T, @twe=133
= °
= @z 9%
Q*N\%? S
2
y WS T4l T \YIRAAnY) -35
of the acute angle 6.
b) cos@=% sin@ = S\S
tan@ = o/
x W e = 37
MY+ R =\
%7 =35
X =D
d) sinf = 02561 soso=mOaRI:
- NG
0= S (035 o g6 AU
= \WRW -



S.  The angle of depression from the top of a lighthouse
75 ft above the surface of the water to a distant ship
is 0.8°. How many miles is the ship from the base of
the lighthouse? (1 mile = 5280 ft) -5

6. Acatison atree branch 5.8 m above the ground.
If a ladder 6.5 metres long is placed on the branch,
what angle does the ladder make with the ground?

R Q) tan g3 = % IR
T~ 38/)5 s
LR . AZI9Kan TG .2 5 5™ - e \(5%
- o o= 3w (21)
N S E AR b3
B . S P> _ >
A NS TA @z L3 )
A om0

® 3\

-

530 W

),; 7. From point 4, the angle of elevation to the top of a
building is 32°. Walking 70 m closer, the angle
%ONQS - changes to 44°. How high is the building?

@ Aandd) = N
F0+ X

T (304 n)kan)
W= F0xan3II A Tiand?d

V' O3

8. A tree grows vertically on the side of a hill. The
hill makes a 18° angle with the horiz he
angle of elevation of the sun is 497, and the tree
casts a shadow 80 ft long e slope of the hill.
How tall is the tree?

QMUY

Path J e
A 10m X @ AanMM = &
R Tty Dhe 123 Am
ESTOVONT XA = 5 pess 4 sheedd | AT 1080
FRANMU — Y an) = > 0kenR) ‘ AU —and)
A (‘\O\r\ U —xne ) = 104nn3) ? = % .3m

9. A ship sails from port 100 km due west, then turns_
and sails 40 km at a heading of N 70° 7. Findthe
bearing, and the distance of the ship from port.

-~

-

~

//
/ON‘ Vi

10. The three sides of a triangle are 10 m_J5 m and
20 m. What is the measure of ?,vrﬁgflest angle
of the triangle? What is thy; a of the triangle?

- / AT

22



